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Question Paper Code : D 2290

BB/ Tech. DEGREE EXAMINATION, APRIL/MAY 2010.
Seventh Semster

Mechanical Engineering

ME 1007 — PROCESS PLANNING AND COST ESTIMATION
(Common ta Production Engincering)
(Regulation 2001)

(Common to B.E. (PartTime) Sixth Semester Mechanical Enginoering
Regulation 2003)

Time : Theee haurs Masimum 100 marks
Answer ALL questions
PAWT A— (10 %220 marks)
L Mention the important applications of work study.
2 What do you mean by work measurements?
What are the ypes of process planning?
4. What is Computer Aided Process Planning?
5. What doyou understand by estimating?
6. Why in conting essential o industril control?
7. Define standard data,
5. What are the diffrent types of estimates?

9. What are the various elements considered while caleulating the cost of n
welded Joint?

10, What are the various losses considered while caleulating direct material cost
o v fing?
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PART B (5% 16 = 80 marks)

xplain in detail the followiag motion study tals
G Motion cconomy

i) Therbling analysis. @xy)

or

6 Give symbols used in flow process charts of method study for
aperation, storage, delay. transport, inspection-cum-operntion. (12

) State the signifieance of flow process charts, @

G State and explain the process planning activitios. az

i) What are the applications of process planning? @
or

Explain how the manufacturing logic, production time and optimum cost
are used in process planning, a5

Write short notes o

@ Direct labour cost

) Direct material cost and

() Over heads. a0
or

An engine lathe was purchnsed for Rs. 20,000, 1ts usoful e was

<. 5000. Using the
diminishing halunce method, calewlate the depreciation ratio. Also

estimated as ten years and the salvage value us

estimate the depressation fund at the end of two years. a6

Explain the various data requirements and sources for cost. cstimation.
an

or
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Three bundred pieces of the bolt are ta be made from 25 mm diameter
rod. Find the lengih of each bolt before up sctting. What length of the rod
i required if 4% of the length goes as serap? (Refer Figure 1) a6
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Figure. 1
Priefly explain the distribution or allocation of averhends. a8
or

A cast foundry employs 30 persans. If consumes material worth
Re. 25,000 pays workers at the rate of Rs. 10/ and incurs a total
overhead of Rs. 20,000, T a particular month (25 days), workers had an
overtime of 150 hours and were pnid twice the normal rate. Find

@ Totl cost

i) Man hour rate of overheads. Assume an & hr workshif per day. (16)
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